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Q1

Q2

Q3

P

GENERAL INTELLIGENCE

If 15#3=9; 10#2=4; 2#20=8; then find the Q1
value of 24#25=7

(A) 3

(B) 10

(C) 27

(D) 9

From the given alternatives, select the number
which can be placed in place of the question 1.
mark (7). :

Q2

I'.
I

8 g 9
4(18|1 [|418|2]|8]|7|4
2 S 3
(A) 30
(B) 24
(C) 6
(D) 12
From the given altematives, select the number Q3
which can be placed in place of the question

mark (7).

7 6 8
2 5 1
aq 3 9
? 4 | 16

(A) 9

B) 7

() 10

(Dy 5

ufe 1583=0; 10#2=4; 2#20=8; T1 2#25=7
] qE T a

(A) 5

B) 10

(cy 27

(D) 9

faw o Rt # | 99 9 o1 99A
Tt ford yeafires (7) & oI O v o
waar &)

(A) 30
(B) 24
(C) 6
D) 12

fau 7y fawet § 1 99 dEm & g
& P weafaes (7) & I oY waEr o
T B

| x| |~
&Slwlun |

HEIE L

(A) 9
®) 7
(C) 10
D) 5
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Q4  Thegiven Venn diagram shows the number Q4 fau mu & o & T S ToE @

of members of a flying club and the aircraft Hewl @) He AN e @ wan o
type they are licensed to fly. How many TEF T AHd 9 Uy B, @ R
members have a license to fly an aeroplane war | fee wewt &y sad o
and a glider or have a license to only flya AR e SEF @ oYY § O Pae
helicopter? K BEOIPIEY SEM B WIgHd /7
U=Ta ! — u=70

&) &

& -

OLKEFTER i
(A) 12 (A) 12
(B) 34 ®) 34
(C) 10 {C) 10
(D) 15 (D) 15

Q5  Which of'the following Venn diagrams best Q5 P AR FE w9 e ol Ak

represents the relationship between mothers, 3R TE®l & 4" B HaEl & wad A
women and writers? wiafriter v 82

(A) (A}
(B) (B)
(©) (C)

(D)

OB®E

Nele
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(6  The bar graph shows the distance jogged

P

by Sumit each day of a particular week. If
80 calories are burmed by jogging a km, how
many calories were burnt by Sumit in the
given week?

|

[ K]

{ LS i

- L] o

|

5| 2

: ] :

1

» - = -
¥ 2 [ | L] 5 [ T

Waake
(A) 2.420calories
(B) 2,240 calories

(C) 2,380 calories
(D) 2,560 calories

Bliglanrs |ogged (e bin )

The given table shows the number of boys
and girls studying in the four sireams incollege
X. The number of girls studying Arts is
greater than boys studying Commerce by

Stream Boys | Girls
Medical 40 80

Engineering | 90 40

Commerce 80 30

Arts 40 S0

(A) 12.50%
(B) 17.50%
(C) 7.50%
(D) 22.50%

Q6

Q7

o A ves fave wae & uee fie
gt wam @it @ 7d 59 & suim
2| ofd uEH km Wi @ 80 demdl
wers a8, o Ry v w7 gha A
fead $a9) weE?

L L3
.
1 Al as

] L
u
L in

2
L]
: l
» B - - - - .
¥

ALt LS

aw & wh g8 e )

(A) 2420 Sam
(B) 2,240 &
(C) 2,380 Hama
(D) 2,560 &
& wd 2aw @ik X ¥ 9r &3 F vg
aTd dS AN ereihdl @ Hed ® g
B | s @ ggTE A el aeihal 9
e @ Ugd U ded W go A
aftrr &)
L] wyd | asieal
AEEw 40 80
sfrdrafiar | 90 40
HIHT 80 30
W 40
(A) 12.50%
(B) 17.50%
(C) 7.50%

(D) 22.50%

— I




The pie chart shows the breakup of the
expenses for an accounting year for company
X. If the company paid ¥ 2 lakh as taxes,
what were the company’s expenses towards
Raw Materials?

92,

BREAKUP OF THE EXPENSES INT LAKH FOR
AN ACCOUNTING YEAR FOR COMPANY X

(A) T50lakh
(B) T40 lakh
(C) T30 lakh
(D) T20 lakh

The line graph shows cumulative production
of cars manufactured in the month starting
from January. How many cars were
manufactured in the months of March and
June?

Q9

Eemery  fmiresey e Hr“'_
]
(A) 800
(B) 500

(C) 700
(D) 600

pC

S AR SR

Q8

Q9

U =E 9 X & oy v S af
fag v wat & fhnas 1 sufar &1 afy
T A B ® WY F T2 IR BT
i, o weeh @ = we @ farg
W fieEr wr?

ot xF Rv ow Awwr ot & e ¢
W # ot wr wrneT

(A) T 50 &
(B) 240 e
(C) T30 T
(D) 220 @

TG AN G Y E A A W
i &Rl & wedl 9aes & enfar &)
Are 3R o @ T § e et @
Pt fasam ar ar?

(A) 800
(B) 500
(€) 700
(D) 600
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Q10 The histogram shows the run rate in a 50

Q1l

pL

over innings by overs. The total number of
runs made in this innings were

(2] LS T I T
b e gL

(A) 310
(B) 300
(€) 320
D) 330

The bar graph shows the GDP growth rate
of country X by year, If the GDP of the
country was $5 trillion at the beginning of
2016, what was it at the end of 20177

I gl rane due e et (B4 S
& bk & m w = = = B
—
. -

(A) $5.76willion
(B) $5.54tillion
(C) $5.67trillion
(D) $5.45 trillion

L

AETE

Q10 anmafes el & SER SO s &
gt # ¥ ¥E e Tui B 3w oud
A T Hel o

sl

oh FIE 10 e Mmoo
5o swT Syt

(A) 310
(B) 300
(C) 320
(D) 330

QI wM AW 9 B ITEN 2 X B 9
e, e @ gy =X @ fRamn # ) aft
2016 # goIT A W N GHA B
garg $5 fefermm o, @ 2017 @ afg ¥
e o7

L ]
]
. I
aold l mie mir l

wi & Taw ainiel frere &7 (%
)
b & w ow e = = B

(A) §5.76 feforas
(B) $5.54 feforgs
(C) $5.67 feformm
(D) $5.45 Rfowm
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Q12 The given table shows the number of

QI3

PC

subscribers, three newspapers A, Band C
have in 4 regions of the country, W, X, Y
and £. The country is divided into these 4
regions only. Each subscriber subscribesto
only | news paper. After newspaper B o

reduces its price by 20%, 20% of #

subscribers of newspaper A and 40% of §
subscribers of newspaper C switch to
newspaper B, then revenue of newspaper B
increases by

Newspaper/City | W | X | ¥ | 2

20( 30|40/ 10

B 20| 40 30| 10

40|20 30][ 10
(A) 32%
(B) 40%
(C) 60%
(D) 28%

The line graph shows the number of students
and the marks they obtained in a certain
exam. The number of students who scored
between 10:and 40 marks is greater than the
number of students who scored between 40
and 80 by

Fmman o e

i

i Mond Bonl Hoad Sond Moed Tl THasd B

i e deem shes sy phew ey dem  dhess
R e .

(A) 67%
(B) 33%
(C) 300%
(D) 200%

Q12 e 7 2aa &9 w9ER U9 A, BalR

Q13

Ca 4831 W, X, Y3R Z# uwat &
T ) ST &) 3w #5494 a3 F
8 fnfom fear mar 8| wle Twe
A WAEN TH 6 HEEE o 8
HATEN 93 B g3 S0 S 20% 3
T D IR, WA UF A D 20% TED
3N TEN 99 C & 40% WSS, TER
5 B 3 Wawen © o & o weeN

B &7 ¥ H a8 @ &1
TWERE W | X Y Z
VAL
A 20 ) 30| 40 | 10
B 20 | 40 | 30 | 10
C 40 | 20 | 30 | 10
(A) 32%
(B) 40%
(C) 60%
(D) 28%
I AR grE B wen i v Pifden
wiien # ure 3@t wr gvier 21 10 i
40 3wt & drg o fta & 9 ol
o W 99 OE] @) gen 9

afs & RrE 409 80 3 419 ofp
el fasu &)

Pag e W

80 20 o o0 b 00 s oo ok by e it A
i ik mi il owd el md el W
witw ritw oty oftn wftw sfew sfew aftw »m

v By v o 53 u

(A) 67%
(B) 33%
(€) 300%
(D) 200%
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14  The pie charts show the marks scored by a

013

P-C

student in two exams, The student was to
be awarded 15% of the total marks in
semester 2 as bonus marks for he had
represented the school in national level
football competition. He had lost 20 marks
in semester | 25 he had submitted his
assignments after the due date. What will
be his student’s net average of both the
semesters combined? The student had
scored 80 marks in science in semester |
and 100 marks in arts in semester 2.

SEMESYER ]

(A) 74
(€) 76

(B) 72
(D) 78

The histogram shows the number of
manufa¢luring companies in an export
promotion zone by their revenue for the year
(in crore rupees), If the zone coliects 5% of
revenue as taxes, what will be their tax

collection”?

Irewmrry

sy EE

- 1T o po-dm L L
e

(B) T 350 ecrore
Dy T 300 crore

{A) ® 325 crone
(C) T375 crove

Ql4

Q15

¢ U U gara & woens 7 4
it @) 2t 2| 99 uiE B vl
CrTal

=91

2% o dH D 15% uIH Ry S e,
it wu i W & gedld

uftrnfiren % we @1 wiiHiEw R
B w1 ¥ 20 sie ar Gy o e
awe Fraa afia & @g 579 SeEeie
g fae &) 50 B @ Wy WY o
219l eandt o @ It T Bm? 39
B3 3 SAdY 1 31 e o 80 3R BHd
2% wen #1005 wftw g o

(A) 74
(C) 76

@ 72
(D) 78

amrafas aw o & o o o @
s Pyt wan d= # P sl
' wen (@ et §) o Rawr 2
afe @ @ w9 3 ¥ 5% UeE e
W &, o S @ wus @9l gy

121 [ LR g C
¥ ATy @ e

(B) ¥ 350 HUE
(D) T 300 NS

(A) T 325 TS
(C) T 375 T8
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Q16 Whichofthe following answer figurepatterns 016 Fp=ifafas # & & O o sl &
ciin be combined to make the question figure? e @ west sl & @ ferg wiver on

. HFHAl 87

[ | | —

I [ |

|

=
Ay EEEBB i ur_@
| w T dES
&:H |
(B) R W I
{B}‘_EH—Iu
[‘] JJH ]

(© - ) | 1
't © OO0 H_
|'_': - L
‘D’E* S HT 1 _ELE

®) S HT

QI7 Whichanswer figure will completethepattem 17 &y wew amfar weel amgfa W Ry
in the question figure? e &1 Y Seh?

—

YR

(A) (A)

(8) (B) T
(C) (C) ]
(D) i (D) i
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Q18

Q19

r-C

A piece of paper is folded and punched as
shown below in the question figures. From
the given answer figures, indicate how it will
appear when opened.

1 el =

—_—

=

ab

(A)

Ivdt}

Zo3] |
v ,.‘w_.r'
%2

(B)

=
£
AN

(©€)

%
&

%

Bt FA
4 pR
4 By

(D)

If a mirror is placed on the line MN, then
which of the answer figures will be the right
mirror image of the given figure?

7
A
® g e
N
(B)
& N
[C‘.r\
(D) N &

1

SLEAT

QI8 wet g # AN faaEg sgan duw

Q19

&
The @ Meay 9w By e g & 9
g g sl A §fa ¥ 5 g9
wa W g 7w s faand &)

HEEE

(A)

- = il
202 hea
sz |2

S %
¥

(D)

f o gHvr ) YT MN 9 Y91 T,
o @ ¥ gww gl § 1E arpfy @
Wt wdor widfe nii?

W e

i @

(A)

. .



020  Which ofthe following answer figure patiems Q20 el 9 w9 9 sy gl @
can be combined 1o make the question figure? et @1 e suglty A @ g aen o
X HaHar 87

“W's w0

AU AT
A 17'/_\7/\ I 7&

& £ N

~aPlUa - aapOa

021 Outofthe givenoptions, three are similar in Q21 fag @y fwwl F @ O Res

a certain manner. However, one aption is fafean o A wiE &1 BEls UE
NOT like the ather three. Select the option fiwen arFg A & ave T8 & 9w
which is different from the rest. fiepea & 9+ o o &0 | 3ET 2
[H QY] HQY
05 2| 0852
Vvay vVay
(B) ZSH @ [Z SH
N O | N O |
X1 Z fx 1 Z
ol e i
HYO HYO
Qs X Qs X
o | ¥ O N () Y ON
| H 2 | H Z

PL 12 SERIES-CF




Q22 Outofthe givenoptions, three are similar in

Q23

P-C

a certain manner, However, one option is
NOT like the other three. Select the option
which is different from the rest.

= —1

=
D

VI

(A)

>
D of]

(B)

(©)

P g
o
':'C‘:-D

v 4

(D) A

(@D
N

Which of the following cubes in the answer
figure CANNOT be made based on the
unfolded cube in the question figure?

m][e
(A) O
® EF

)
(C) 7=

® |[

i3

Q22

fae vy faareut 3 ) dr e e Pftea
i ¥ v £ ) Brelie, UE fdees s
d9 @ wve A 8| 90 Rew &
me W A AT B

Dy =
>d

A
{],:, 5

DWEJ
<
D o

(B)

d
D

(©

A
>
oo

A

>
o o

{D)

a[Shy

T il e 59 o we angpfo A
Wol BY H @ SRR SY A6 Sl o
wHipal &7

LIS

(A)

(8)

(€)

S%
N

(D)
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Q24 Fromthegivenanswer figures selecttheone Q24 &1 7 IR 3 gy @, w anpfa @
in which the question figure is hidden/ T @ farert W amsin fodi / Fifda
embedded. L

| ad
N

(A) §“ B

(B) 4% (B) %

(€) (C)

|
L1 I

(A)

NN

(D) (D)

Q25 Which of the following answer figures Q25 Prefafem A 3 = /A s wph,

completes the series of the question figure? W AP @ HEen B @ B 87
alla al|le || | alla.ello | "
EE} P l::h L | mﬂ} 1} :l'ﬂ | |
A g o O [
® |o%s ® |g"p
® &
[
© | B, © | B,
@ @
= =
(D) q (D) dq
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Q26 Consider the given statement and decide

Q27

P-C

which of'the given assumptions is/are implicit
in the statement.

Statement : *Installing a soft-drink vending
machine in the school campus is a bad idea.”
A parent speaking in a parents-teacher
meeting.

Assumptions:

. The parent believes that a vending
machine will increase student
consumption of soft drinks.

[l. Thereisnooiher way in which students
can buy a soft drink when they are in
the campus.

(A) Onlyassumption | is implicit.

(B) Only assumption Il is implici

(C) Neither | nor 11 is implicit

(D) Bothland Il are implicit.

Read the given statement and conclusions
carefully. Assuming that the information in
the statement is true, even if they appear to
be in variance with commonly known facts,
select which of the conclusions logically
follow(s) from the statement beyond
reasonable doubt.

Statement: Data shows that post graduates
earn 20% more than graduates.

Conclusions:

[. Ifall graduates become post graduates,
then average starting salaries for all will
increase by 20%.

1l, Iffees for post graduation match with
graduation fees everybody will become
post graduates.

(A) OnlyConclusions| follows.

(B) Only Conclusions Il follows.

(C) Both the Conclusions follow.

(D) None of the Conclusions follows.

15

Q26

Q27

U U & AT &) areme |3 1 e
£ ) g &4 s aroml | 9 SE-9 S
4 fea 28

HUA - e BaE A iad 90 R waE
e g g e @ 1 siffvae— i
dod A Ao g@ s |

LR

L ¥ sifinmas &1 e # 15
e & BRY BrEl § Ao 9w @
IR 2T |

. e o gy aden e ¢ e
BE duw # 81 W Mad 19 wae
e |

(A) Bad awor | g &1

(B) @aw awo 1l Hi@a 2

(€) Tarl =& AEa g

(D) | 3w 11 <1 Figa #)

U e B oare &1 e | e R e
& | were # Y v meat & "y aEl v
8§ amra WY W a el o fs e
g 3l 4 o 3¢ w9 P
fag mg wer @ a@qel B9 W SRR
HYar/ s B/ |

For - Afad B £ B Faewr dm
wTRTE! B e 4 20% st S #

fAyepd

I ofE Wi Eae SEsme a9 Wi
£ arenfl & forg v gosmh ¥
20% "5 S|

Il 3T SRS B O Fae O
= W Ao wrE B, O geE afda
FIRTHITY & ST )

(A) @ae Freed | areRe s 81

(B) @aa Fssd |1 aEERe & &1

(C) =i Preed sy & 8

(D) B N Prend s T8l wean #1
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()28 Read the given statements and conclusions
carefully. Assuming that the information in the
staterments is true, even if they appear to be
in variance with commonly known facts,
select which of the conclusions logically
follow(s) from the statements beyond
reasonable doubt.

Statement 1 : All breads are loaves.
Statement 2 : Some breads are cakes,

440835 T

Conclusion | ; Some loaves are cakes,
Conclusion 11 : Some cakes are breads.
(A) Only conclusion | follows.

{(B) Onlyconclusion Il follows.

(C) Bothland I1follow.

(D) Neither 1 nor 11 follows.

Q29 Readthe given statement and conclusions
carefully. Assumning that the information in the
statement is true, even if they appear to be in
variance with commonly kniown fiicts, select
which ofthe conclusions logically follow(s)
from the statement bevond reasonable doubt.

Statement: The population of Japan has
decreased by 1%, while its GDP has
remained stagnant as compared fo | year

ago.

| Conclusion |: The per capita GDP of Japan
must have increased as compared to | year
| .
Conclusion I1: lapan must be having more
people older than 50 years than those under
50 years,
(A) Onlyconclusion 1 follows.
(B) Only conclusion 11 fallows.
(C) Both land II follow.
(D). Neither] noe 11 follows.

PC
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Q28

Q29

&4 WeW 9 51 DAl & ang of - | 3w
1 faw e 8| Huat | 2l o gl @
TH T e 61 O HER W W S el
" M= od B ol 4 s o %
@ /4 Freed afta Wi 4w e
Ry g aperdl 1 qwyel WY W SR
Fvdl /8|

du |: w0 we dfea 8
Te 2 o de o §|

Fred |2 5B Afedl @5 £

fAerd Il @6 &% a3 & |

(A) Hae Frand | sy svr &)
(B) @waa Frepy Il aremwr &een 21
(C) 1 3R 1l gH1 argemwr ava |
(D) = @t 1 aff =1 &1 11 3w v §

9 WH Y 0% FuF & ag 21 P |
a1 fog oy & | @ # B2 o e
o W9 "F aor € W WY 9 e
el sl d s
D1/ 9 T R 1y wem @ e
TG W IR FET 8 /8

o | Al uwe A gen § o 3
TR 1% @ @i o 8, wefe
T W wee, o Rew ) §1

P 1; | &d gee) 4 gerer A s &
uft @it wde utg oag 4 gfg ad
gl

e 11 wvae, s 9 S0 ad @ @
Y & AF B gorm § 50 o /@ e
g & o o #)

(A) @ae P | sreeer v 2|
(B) ®ae fam 11 s s &)
(C) | 3% 11 =Y e v &
(D) = & 1= & I S @ B



Q30 Consider the given statement and decide

Q31

which of the given assumptions is/are implicit
in the staternent.

Statement: “The train isat 8 o’clock. Letus
leave by 7 o"clock.” Father instructing the
family.

Assumptions:

. Thetrain could be early.

[I. Onanaverage ittakes | hour for the
family to reach the railway station.

(A) Onlyassumption | isimplicit.

(B) Only assumption I is implicit.

(C) Neither | nor1lis implicit.

(D) Both!and 1l are implicit.

A statement is followed by two arguments.
Decide which of the arguments is/are strong
with respect to the statement.

Statement : Should electric two wheelers
be subsidised?

Argument | : Yes, electric two wheelersdo
NOT create pollution.

Argument Il : No, charging takes much
longer than filling petrol,

(A) Only argument | is strong.

(B) Only argument Il is strong.

(C) Neither I nor Il is strong.

(D) Bothland Il are strong.

7

Q30 Tw YR @ w15 w1 grevnd | afw 1 &

Q3

£ g o @ g F 9 e sy
# Ffea 8/81

TG B e § w0 | & 790 Fasen
ity " R A sRar = Ada 3 5
BET |

BRI

I o iodl & W R

1. uftar & Yo ue uge i el
| 52 W HHG o 21

(A) Hae gwevr | fAfga &)

(B) daer gt 1 Fifta &)

(Cy adia & Ffka &y

(D) 1 AR 1 <t Pt &

e U P A% 3 T Ry oy ) Pl
@ & wum & wee ¥ I Wi/9 06
worga & /8|

wo, a7 gefigs Jwfdar awat gv
wieadt & e TiRy?

w1 B, goifige wufta) e g
tgr 718 I 81

aa 11 78, feir # dge et & et
Wy o &

(A) @ad od | g )

B) Fad % 1l o 8

(€) = &1 3 = &N o §)

(D) | 3 I S wogm 8
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Q32

Q33

I the question a statement is given followed
by two cotirses of action numbered | and 1.
You have to assume everything in the
statement to be true and on the basis of the
information given in the statement, decide
which of the suggested courses of action
should be followed.

Statement : Incidences of dog bites have
doubled in a residential area.

Courses of Action:

l:  Find volunieers to trap and neuter the
dogs.

Il: Registeracomplaint atthe local

(A) Follow .

(B) Follow .

(C) Follow both Land [1.

() Follow neither | nor 11

Two statements referred to as Assertion (A)
and Reason (R) respectively are provided.
Select the mast appropriate comment about
the statements.

Assertion (A) : We feel warmer in black

clothes on a sunny day.

Reason (R) : Black is a better radiation

absorber than other colours.

(A) Both A and Raare trueand R is the
correct explanation of A

(B) BothAand R aretrue but R is NOT
the correct explanation of A.

(C) AistruebutR is false.

(D) A is false but R is true.
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g¥ A @ wuA faar @ el ows
a7e FaE & arwa 1 R IR w8
FmE w9F H § T wE 95 B 6
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qEg v A A | R e e
s Enfe |

we. el amari 6§ a5 @ s
& meet Pl B 2
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| e @ e Al 95 4 B
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n: W oy fafeear @w R
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(A) 1 &1 qrer o |

(B} 11 &1 urers &Y |

(C) 1 3= I8 g1 @ arEe i)

Dy A1 3R T & U F e W

21 e wae: afi@es (A) sht sR
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aifiaerT (A): B9 U0 gu # @Tet wust |
i SRR @ # )
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(A) A 3w R gF Wy € iR RA 9
Wil e 81

(B) A afiz R 3l v § a9 RA
o T e T &

(€) A w1 & AT R 3w )

(D) A st & @ R |9 &1
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Two statemnents referred to as Assertion (A)
and Reason (R) respectively are provided.
Select the most appropriate comment about
the statements.

Assertion (A) : Thermosetting plastic can be
easily recycled as they mell on heating.

Reason (R} | Thermosetting plastics are

formed when their molecules cross-link.,

(A) BothAand R are true and R is the
‘comrect explanation of A,

(B) BothAand R aretrue but R is NOT
the correct explanation of A.

(C) A istrue but R s false.

(D) Adisfalse but R istrue.

A statement 1 followed by three courses of
action numbered 1, 11 and 111. You have 1o
assume everything in the staterment to be true
and on the basis of the information given in
the statement, decide which of the suggested
courses of action should be followed.

Statement : Vinod finds a purse containing
money and an identity card,

Courses of Action:

L Handover the purse to the police
station.

II: Takethe money and carefully keep the

purse where it was,

Try to contact the person using

information on the card,

(A) Follow landIl.

(B) Follow Il and I11.

(C) Follow Iand 1l

(D) Follow all 1, ITand TH.

I

Out of the given options, three are similar in
a certain manner. However, one oplion is
NOT like the other three, Select the option

which is different from the rest.
(A) FGH (B) ABC
(C) CEG (D) UVW
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(A) 1T i@ &¥ |

B) 1l B e )

(C) T &7 Ut @ |

(D) 11 afR 11 we &)
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a9 e 9 &) 9w fawen W 9
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(A) FGH (B) ABC
(C) CEG (D) UVW
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Out of the given options, three are similar in
a certain manner, However, one option is
NOT like the other three. Select the option
which is different from the rest.

(A) Mars

(B) Uranus

(C) Jupiter

(D) Moon

Select the option that is related to the third
term on the same basis as the second term is
related to the firstterm,

TUS: VWU :FGE:?

(A) HIG

(B) JKI

(C) KLM

(D) NOM

Select the option that is related to the third
term on the same basis as the second term is
related to the first term,
B547:777::11110:7

(A) 1010

(B) 1001

(C) 5478

(D) 8237

Out of the given options, three are similar in
a certain manner, However, one option is
MNOT like the other three. Select the option
which is different from the rest.

(A) 209

(B) 231

(C) 247

(D) 253

In the following question, which one setof
letters when sequentially placed at the gaps
in the given letter series shall complete it?
a_zb5 ed x3cy b_la

(A) 6bx2z

(B) ybx2a

(C) 6bxa2

(D) 6yx2z

DL RO
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fEe v Ao 4 @ 0 e @
faftan ofe | 9w ) g, (@
fmey a=n @9 1 TR T B oW
fEsg &) ga+ &Y @l 3 | 3T 8
(A) #rd
(B) 77
(C) gewufy

(D) He

T [APeu &1 gu B Wl den 98 9
S R ¥ e @ R g 8 5u
U UFd UE ¥ et B |
TUS: VWU = FGE:?

(A) HIG

(B) JKI

{(C) KLM

(Dy NOM

9 fAFey o1 90 W AR 0w 9
il v B Wea 8 o yor | g
g gEd Ug W et 2|
8547:777::11110:2

(A) 1010

@) 1001

(C) 5478

(D) 8237

fav v Rewt § § 09 fiom @
Aiften ol 9 v ) ifE,
fameq ara &9 @ ove 6 B @9
fagea &1 50+ & o 3= 9 AT B
(A) 209
(B) 231
(C) 247
(D) 253

Pl ge A e/ 4 9 39 W
wiE Ry sl A swer & Raa
el W R Ry
a zb5 o4 x3cy b la

(A) 6bx2z

(B) yox2a
(C) bbxa2

(D) 6pez



Q42

Q43

Q45

Q46

rC

Find the missing number in the following
number series.

4, -3.25,-2.5,7,-1,-0.25

(A) -1.25

(B) -2

(C) -1.75

(D) -1.5

In an artificial language,

*bujmiz’ means ‘backbone’
*kolmiz” means ‘kickback’ and

Which word would mean ‘threadbare’?
(A) Bujtek

(B) ‘Vokmiz

(C) Kolnim

(D) Nufrit

- IFPRAUGHT is coded as WIZFTSG, then

how will LIP be coded as?
(A} NKR
(B) ORK
(C) KHO
(D) MIQ

In a certain code language, "+’ represents
'x', "+ represents ‘+', ‘=* represents ‘+’

and *%* represents *-'. Find out the answer

to the following question.
1829+348-4=2
(A) 13
(B) 3
(1
(D) 9

If A @ B means A is the sister of B, A# B
means A is the mother of B and IfA * B
means A is the father of B, then what does
P* Q@R # S mean?

(A) Pisthe fatherof S.

(B) PisthesonofS,

(C) Pisthe son-in-law of 8.

(D) Pisthe grandfather of S,

454001 506
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Frfafian s s 3§ g we g
tad

-4,-325,-25,7,-1,-0.25

(A) -1.25

(B) -2

(€) -1.75

(D) -1.5

uw pim e

“bujmiz’ @7 7% & “backbone’,
‘kolmiz' @7 3 & ‘kickback' 31T
‘ritbuj’ #1 31ef & “barebone’ |

forer weg @1 3nf ‘threadbare’ EFTI?
(A) Bujtek

(B) Vokmiz

(C) Kolnim

(D) Nufrit

af§ DRAUGHT %1 WIZFTSG & &4 3
ae a5 s mn 2, o LIP %) Ry
e 4 mem?

(A) NKR

(B) ORK

(C) KHO

Dy MIQ

s fAf¥m ors wm #, v, '«
wfifafe wvar 8 '+, '+ @1 Rk
s o wfafiRee o @ alw
w0 g wfafaie s & | Presfaiea
W¥ BT Seow S Y|
18x0+348-4=7

(A) 135

(B) 3

€ 1

(D) 9

A@Bw iR ABH AL @
A#B &7 aef 2 A, B # wren & v afe
A*Baraef & ABm e & @
P*Q@R#S &7 3 ared &7

(A) P.S o fiem 84

B) P,S & 9A &)

(C) P.S w1 g8 21

(D) P, § @& zrEr/ A )
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E said 1o F, “You are my s5on’s wife’s father-
in-law."* How is F related 1o E?

(A) Fisthe brother-in-law of E.

(B) Fisthe latherof E.

(C) Fisthe wife of E.

(D)) Fisthe husband of E.

A glider flies 10 km to the north-east. It then
turns 90" left and flies 5 km. It then turns 40°
to its right and flies | 0 km. It then wms | 35°
1o its lefl. In which direction is it flying now?
(A) South-east

(B) North-east

(C) South-west

(D) Morth-west

A woman Is pushing atrolley in & mall, She
startsand walks | 10 m southwards, then she
turns eastwards and walks 80 m, then she
turns northwards and walks 120 m, then she
turns westwards and walks 120 m then she
turns to her left and walks 10 m. Where is
she now with reference to her starting
position?

(A) 40 m eastwards

(B) 200 m westwards

(C) 200 m eastwards

(D) 40 mwestwards

A few telecommunication towers S, I, Z, E,
Nand B are plotted on a map. Z is 6 km to
the north of S, which is 9 kmi to the west of J,
which is 12 km to the north of B, which is 9
km to the east of N, which is 15 km to the
north of E. Where is Z with respect to E?
(A) 33 km northwards

(B) 33 km southwards

(C) 9km northwards

(D) 9 km southwards

:
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EAF ¥ &g "ay M4 & ush @
guY 817 F,E § &% Haig 87

(A) F.E &1 g &)

(B) F,E & far 1

(C) F.E @ ueh &

(D) F,E @1 ufy &)

U TEEEY deoe-ud ¥ 10 km Sear &,
e g 90° mid iR qoan & 3w S km
g &, 1w a8 40° 39 T AR e
8 3R 10 km 951 &, fe a8 135° ard
:\vgm_ﬂpmwﬁmﬁmﬁﬁm
5

(A) By

(B) wwr—gd

(C) =ft—ufdam

(D) -

@ AR A A g 9 gem 2
v & | @8 g% s & afie 110 m =iy
¥ SR Fordt &, @ s gl T sl ged
# 3ffe 80 m el 8, e a7 aww &) 3w
geiil & 3R 120 m worh 2 fw 9w
uf¥em #1 i qefl & afv 120 m =
2, T a8 sl wid aiw e 2 ol 10
mEeRd) © | AF T W0 oAt I B
e 4 @i 87

(A) 40md

(B) 200 m uf¥am

(C) 200m g

(D) 40 m 9f¥em

$,4, 2, E, N3l B & guear efav)
@1 U@ qrEeE e Al R g gz,
S @ Saw A 6km W 2 W1 J D uftem ¥
9kmuT B, M BH TER F 12km W &

St N g4 % 9km 5% & O E & Swre
15kmu% 8| E® wag 4 Z @6f 27
(A) 33 km e
(B) 33 km gléo
(€) 9km SR
(D) 9km &fém
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GENERAL KNOWLEDGE

The work of which committee set the stage
for the launching of Panchayati Raj
institutions throughout the country?

(A) Bhanu Pratap Singh Committee

{B) Balwant Rai Mehta Commuittes

(C) CRangarajan Commitiee

(D) Arvind Mayaram Committee

Under which programme will each Member

of Parliament take the responsibility for

developing physical and institutional

infrastructure in three villages by 20197

(A) DeenDayal Upadhyaya Grameen
Kaushalya Yojana

(B) Swarnjayanti Gram Swarozgar Yojana

(C) Prime Minister Rural Development
Fellows Scheme

(D)) Saansad Adarsh Gram Yona

A political party shall be eligible to be
recognised as a national party ifit winsat
least in the Lok Sabha and
these members are elected from at least three
different states.
(A) 11 seats

(C) lfiseats

(B) 21zeats
(D 26scats

In order 1o stand for a Lok Sabha or an
Assembly election, a candidate must be at

least years old.
(A) 23 (B) 21
(C) 25 (D) 18

At present, there are Lok
Sahha constituencies. This number has NOT

changed since 1971.

(A) 343 (B) 534

(C) 556 (C) 365

The temple is one of the

largest rock-cut ancient Hindu temples
located in Ellora, Maharashira, India.

(A) Pataleshwar (B) Bhairava

(C) Dudhneth (D) Kailasha

3
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Q59

Q60

Between the 2001 and 2011 censuses,
India’s population grew by

(A) 20.70%

(B 17.70%

(C) 14.40%

(D) 24.40%

India’s fiscal deficit stood at
by the end of November 201 8.
(A) ¥6.23 lakh crore

(B) T7.17 lakh crore

(C) ¥5.85 lakh crore

(D) T4.61 lakh crore

The ratio of equity share capital 1o fixed
interest bearing funds is called

(A) Proprietary Ratio

(B) Capital Gearing ratio

(C) Capital Turmover Ratio

(D) Debtserviceability Ratio

The basic accounting equation is -

(A) Stockholder's equity = Assets—
Liabilities

(B) Profits=Revenues —Costs

(C) Assets = Liabilities + Stockholder’s

equity
(D) Networth=~Assets + Liabilities

The interim budget 2019 has announced a
farm income support scheme PM Kisan
Samman Nidhi. For this scheme the Centre
will transfer every year to
small and marginal farmers.

(A) T 10,000

(B) ¥ 6,000

(C) T 14,000

(D) ¥ 18,000

Q57
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Q59

Q60

2001 3 2011 &) FETOEN @ AE, A
o T W gfe &% |

(A) 20.70%

(B) 17.70%

(©) 14.40%

(D) 24.40%

HIqY 2018 AT T N ] USHEY
HiET &l |

(A) % 6.23 &1 VIS

(B) ?7.17 @@ @i

(C) T 5.85 g e

(D) T4.61 o1 worE

st Sy dftes @ PRw o a8
ey & smqora &1 @er W #)
(A) =nferarr SFaTe

(B) oI IR SEIRT

(C) Hoft S argum

(D) VT IR ST

I Oid WA gl

(A) St 31 fawmy = wofa — daa

(B) o = Y — @d

(C) wufer = gar¥ + FARARF T
fir

(D) Faa e = wofs + 2ol

2019 % aiaRa gore ¥4, ofY amy w=ma

gror fied frarE g fafy & o
o ) g A B asg BE GER
wier od B alfv Wi faei @t
Ll
(A) 2 10,000
(B) T 6,000
(C) T 14,000
(D) T 18,000
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The Africa Centre for climate and sustainable
development was inaugurated by :

(A) Gitseppe Conte, the Prime Ministerof §

Italy

(B) Abdelaziz Bouteflika, the President of

(C) RamNath Kovind, the Presidentof
India

(D) Edouard Philippe, the Prime Minister
of France

Salom Zurabishvili was elected as the first
female President of . She
took charge on December 16, 2018.

(A) Georgia (B) the Ukraine

(C) Greece (D} Turkey

Mame the Indian bowler who has become
the fastest Indian ta reach |00 ODI wickets.
{A) Ishant Sharma

(B) Hardik Pandya

(C) Mohammed Shami

(D) Dinesh Karthik

In January 2019, it was announced that the
word was chosen as the
Hindi Word of the Year 2018 by the Oxford
Dictionaries.

(A) BetiBachao (B) Swachh Bharat
{C) MNariShakti (D) lan Dhan

The minimum suppaort price forwheat to be
marketed in2019-209s ____perquintal.
(A) T 1,620 B) ¥ 1,460

(C) T 1,280 (D) T 1,840

Name the rice from Kerala that has a Gl
(Geographical Indication) tag,

{A) Gautami (B) Navara

(C) Seshu (D) Jagannath

Tea from which place in India hasa registered

Gl (Geographical Indication) tag?

(A) Assam (B) Kerala
(C) Unarskhand (D) Darjeeling

=
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B) wifds dear
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(A) T 1,620 ®) 21,460

(C) T1.280 D) T 1,840

HUA D A ) 99 [ A aan
fordy Sitand (ififere auey) &1 Ben
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(A) Theedt (B) =am

(€) ¥5 (D) T
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(A) ¥HH (B) aval

(C) vmoi@s (D) erfuifeiT
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Q70

Q71
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Q73

Q74

is the measurement of
the amount of data that can be transmitted
over a network at any given time.
(A) Cache
(B} Calibre
(C) Badge
(D) Bandwidth

On a multitasking system, a is
the certain amount of RAM that is allocated
as a temporary holding area so that the CPU
can manipulate data before transferring it to

aparticular device.
(A) Helix (B) Wizard
(C) Bounce (D) Buffer

Which file type has the file extension .bat?
(A) Adobe PhotoShop

(B) Web page imagemap

(C) Macintosh BinHex

(D) PC batch file

Name the place where Buddhists believe
Gautama Buddha attained Parinirvana after
hisdeath.

(A) Kaushambi

(B) Kushinagar

(C) Budaun

(D) Chitrakoot

Which folk music of Uttar Pradesh is part of
the life-cycle repertoire, sung to celebrate
the birth of a child?
(A) Kaharwa

(C) Kajn

(B) Chanayni
(D) Sohar

Name the variety of scented rice grown
primarily in the tarai region of Uttar Pradesh.
(A) RoseMatta

(B) SonaMasuri

(€) Trpti

(D) Kalanamak

Q69

Q70

Q71

Q72
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Q74
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(A) Bfeaa (B) faumd

(C) arad (D) &%=

e R & BIgd @ T bat B
2?7

(A) 2w prREi

(B) @9 ¥ gHorm

(C) #fF<w fdaw

(D) N &= wEw

9 WFE F AW gan st digl @
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(B) FATTR
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(A) ¥ gl

(B) ®Ew wd

(©) 9

(D) IS
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Which of the following towns in Uttar
Pradesh has 300 small units producing a
wooden percussion instrument called
dholak?

(A) Amroha (B) Jaunpur

(C) Bulandshahr (D) Hardoi

Budaun is famous for its Zari-Zardozi
produects. This work is prominent in tehsil
Budaun, Bisoli, and Dataganij. Almost 35 per
cent of the families are engaged in this
industry, Locally, this work is also known
as :
(A) Phaddi

(C) Tanjori

(B) Kalambkari
(D) Karchobi

Name the classical Hindustani singer from
Varanasi, who was adopled by noted sarangi
player Siyaji Mishra.

(A) Siddheswari Devi

(B) GirijaDevi

(C) Gangubai Hangal

(D) Shubra Guha

The city of Ballia, the district headquarters,
is believed to be the birthplace and
workplace of Maharshi

(A) Apastya (B) Bharadwaja
(C) Bhrig (D) Gautama

Ustad Vilayat Hussain Khan of the Agra
ghammmnpamdbanmﬂﬁmnwwmw
under the pen name *

(A) PremDas  (B) Fmﬂ?‘?“

(C) Sabrang (D) Darpan

The University of Agriculture and Technology
located at Kanpur, is named after which
freedom fighter?

(A) Chandra Shekhar Azad

(B) MahatmaGandhi

(C) Lal Bahadur Shastri

(D) Mangal Pandey

45841500
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(C) gefamey (D) &waE
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(B) Feram

(D) FREE

(A) wer
(C) oo
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Q81

Q32

Q83

Q84

Q85

Q86

Q87
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The Rumi Darwazaisin ____ city of Uttar
(A) Lucknow (B) Agm
(C) FatehpurSikri (D) Aligarh

In the 1857 sepoy mutiny, the sepoys had
objecied fo cartridges made by which

eommpany?
(A) Atkins (B) Enfield
(C) Remington (D) Winchester

Khudiram Bose was hanged for his attempt
to assassinate a British judge, Magistrate

(B) Shore
(D) Barlow

(A) Kingsford
(C) Clarke

Name the chairman of the Minorities Sub-
Committee of the Constituent Assembly.
(A) Alladi Krishnaswami Ayyar

(B) B.Pattabhi Sitaramayya

(C) H.C, Mukherjee

(D) KM, Munshi

in 1829, Rammohan Roy founded a new
religious society known as the

Sabha which later on came to be known as

the Brahmo Samaj.

{(A) Atmiya (B) Arya

(C) Siddhi (D) Jagrit

The in 1897 by Swami
Vivekananda.

(A) Shuddhi Movement was started

(B) Tattvabodhint Sabha was founded

(C) Ramakrishna Mission was founded

(D) ‘Sarvodaya, Bhoodan Movement was
starled

The Bengal Regulation Acts of 1795 and
1804 declared '
{A) the practice of sati illegal

(B) murdering of female infant illegal

(C) widow remarriages as légal

{D) practice of child mamiage illegal

Q81

Q82

Q83

Q34

i Q85

Q86

Q87
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Q38

QB9

Q%0

Qo1

Qo2

Q93

g O

After the Battle of Buxar the Nawab of
ceded Allahabad and Kora

to the Mughial Exrsiperor who came under the

protection of the British roops

(A) Benares  (B) Bhopal

(C) Bahawslpur (D) Awadh

The McMahon Line is 4 border line between

the Tibsetan region of China and the north-

eas! region of India, proposed by British

% Q88
8

colonial administrator Henry McMahonat -

the 1914

(A) Daneeling
(B) Shimbs

(C) Lhasa

(D) Kathmandu

Convention.

In the Chittagong armoury paid, put into
actionon 18 April 1930, the police armoury
in Dampara was captured by a group of

revolutionaries led by

(A) Chittarangan Das

(B)y Ganesh Ghosh

(C) BaghaJlatin

(D) Ullaskar Dutta

India’s territorial waters extend into the sea
toa distance 6f from the caast
haseline.

(A) 18 nautical miles

(B) 24 nautical miles

(C) 12 nautical miles

(D) 30 nautical miles

The peak i5the highest peak
in Silent Vitlley National Park, Palakad.
(A) Anamudi (B) Anginda

(C) Devimala (D) Perumal

Which river, before entering the western
coastal plaing, descends down a 275 m high
cliffand forms the Gersoppa Falls?

(A) Ghataprabha  (B) Hemavai
(C) Sharavai (D) Kabini

29

Q89

Q91

Q92

Q93

AR D Y & 9 & e A
FERIATE 3N B E PE GWE H WG
foan o fafeeer B & Hom & sioeha
A |

(A) WHTRH (B) ¥t

(C) 9Emey (D) S

HepmarT v 2 & fesh dm st ame
& SR gl a9 @ A A e T
R fafew smfFafies gomes &0
qarwa 7 1914 wiEes #
weenfae [l ar|

(A) aifferm

(B firen

(C) w=nrm

(D) HGHTG,

18 wvadl 1930 W1 §§ g™ SN
Bl At e @ g q famay
o ot iRy 5 swr 7 Reg
gfere TR g e oW fewn oy
(A) Frevers &

(B) Ty Oy

(C) & Sk

(D) STATHHY Tl

v @ Spd e g R
i aw e 3 hel gg 2

(A) 18w e

(B) 24 wwel Wit

(€) 12 wet A

(D) 30 el et

e wEee A9 U ague,
Teasrs 3 HaH Sl =il g1
(A) ST B) afiret
(C) <fem (D) ToHe

@ A 98, afted adg el o wdw
T UEe 275 m e wE2E W
& aftv i Wersar qeen &7

(A) =T (B) B
(C) e (D) @E
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094

Q95

Q97

Q98

Which stale has the highest installed
efectricity generation capacity”

(A) Gujarat

() Tamil Nadu

(C) Andhra Pradesh

(D) Maharashtra

The world’s largest reserves of which
radivactive element are found in India?

(A) Uranium

(B) Radium

(C) Phuonium

(D) Thorum

Which tribal community in India is mostly
located in the Aravalli Ranges of Sirohi in

Udaipur?

{A) Gond

(B) Kodava

(C) Bhil

(D) Toto

The language is a Sino-
Tibetan language.

(A) Kuvi (B) Thado

{C) Dimasa (D) Malo

Which of the following countries does NOT
lie partly or wholly in the Sahara desert?
(A) Algeria (B) Libya

(C) Nigeria (D) Egypt

Mount Kilimanjaro is a dormant volcano in

(A) Tanzania
(C) Ethiopia

(B) Kenya
(D) Ghana

Q100 TheGram Panchayat system has three levels.

P-C

The block level is the
(A) State Committee
(B) Panchayat Samiti
(C) ZillaParishad
(D) Gram Sabha

Q94

ety

% Q95

S,

Q96

Q97

Q98

Q99

fire v ) wenfte ol IareT e
s sfs &7

(A) ToRET

(B) afferg

(C) Frieraers

(D) TEmT

e Yearrd om & e @ e 5
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GENERAL SCIENCE

Q101 Which of the following compounds is a
major component of marble?
{(A) Magnesium sulphate
(B) Silicon dioxide
(C) Caleium carbonate
(D) Potassium nitrate

Q102 Sound of whichofthe fotlowing frequencies
would beaudible to a human being?
(A) 5Hz
(B) 50,000 Hz
(C) 100 Hz
(D) 1,00,000 Hz

Q103 The boiling paint of water in Fahrenheit scale
is -

(A) 32°F

(C) 212°F

(B) 100°F
(D) 373°F

Q104 The most commonly used material to make
the filament in an electric bulb is
(A) chromium (B) tungsten
(C) platinum (D) nickel

Q1035 Which of the following processes is a
chemical change?
(A) Photosynthesis in plants
(B) Meltingofwax
(C) Condensation of water
(D) Transpiration in plants

Q106 Which of the following precious stanes is
made of an element and not a compound?
(A) Emerald (B) Gamet
(C) Jade. (D) Diamond

Q107 The time period of a simple pendulum
depends upon the b
(A) length of the pendulum
(B) mass of the pendulum bob
(C) tension in the string of the pendulum
(D) density of the material of the pendulum

pP-C
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Q101 Frafafem 4 | = o Aifs dmeR
@1 (s 9 Hed B
(A) Affafaam wede
®B) Rufeet emefiemzs
(C) Hfewaw sETHe
(D) i Agge

Q102 fr=faftas # &t f5w amgfe A =afy
W A s g
(A) 5Hz
(B) 50,000 Hz
(C) 100Hz
(D) 1,00,000 Hz

Q103 witgrge wd ¥ usll &1 wueAiE
gl

(A) 32¢F

(C) 212°F

(B) 100°F
(D) 373°F

Q104 fagyn aea @ fvarie @& a9 & fa
wad afE e @ o ael weel

gl
(A) s (B) A
(C) @™ (D) e

Q105 Fre=faftaa & 4 o9 WM wivy @
T ufade 87
(A) det % weprer Heewor
(B) #m &1 fas
(C) Wi BT wEE
(D) et # amweE

Q106 Fraifaftaa § & 19 a1 DR TR UE
de 9 & £ 3wy diffts 8 87

(A) =1 (B) A
(C) R (D) &

Q107 U@ WEIRY G D1 THg G
gx fole w81
(A) Hiors & g
(B) s dfa & wEnE
(C) de® & dg 4 ama
(D) drew A wrf & o
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Q108 The digestive juice in our stomach consists
mainly of
(A) sulphuricacid
(B) nitricacid
(C) hydrochloricacid
(D) acetic acid

Q109 The i5 the largest and
strongest chamber in a human heart.
(A) rightventricle (B) left venricle
1C) leftatrium (D) rightatrium

Q110 Whichof the foltowing elements iscommonly
used to make a nuclear bomb?
(A) Helium
(B) Radium
(C) Uranium
(D) Actinium

QI11 Pharma exports from India in financial year
2018 were -
(A) 523 billion
(B) $39billion
(C) $45billion
(D) $17billion

Q112 The design and development of India’s

indigenous light transport aircraft named
is being done by the CSIR-

National Aerospace Laboratories,
(A) Vitnaan
(B) Saras
(C) Garud
(D) Hans

Q113 India’s most powerful super computer
PRATYUSH has been installed at IITM
(Indian  Institute of Tropical
Meteorology)
(A) Hyderabad
(B) Roorkee
(C) Kanpur
D) Pune

P-C

Q108 5t ¥z 3 Regg oras w0 § g S99
g £
(A) e
(B) “mEfe® avs
(C) eSS
(D) yffes s

#F BT B wad 9 3
T Ao @ g 2
(A) =ifes e (B) a4 Pem
(C) wwif anfeie (D) i anfee

Q109

Q10 sy 7 7 o forg e P
# @ 5w om & 9wa & o €7
(A) Bfers
(B) Ve
(C) ¥
(D) SRefam

Qi1 facla ot 2018 ¥ wra & vt Fak
il
(A) $23 fRfts
(B) $39 fafeas
- (C) $45 Rfeam
(D) $17 fferas

Q112 Yyrandany -t TR warrae
A ® AT & Al s
aftaes R @ s dw Remn fem
W S R
(A) famma
(B) e
(C) s
(D) &9

QI3 W & FEN v e S9gEe
yege’ IITM (e swmitada dim
fgmr wiver) ¥ yenfe R
T B
(A) Zavame
(B) o
(C) +rFgE .
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Q114 The BrahMos missile, has a top supersonic
speed of Mach
{A) 8w |
(B) |82
(C) 283
(D) 31048

QI15 As per the World Health Orpanisation
{ WHO) recommendation of a balanced diet,
to avoid unhesliby weight gain, total fat shoukd
NOT exceed of total energy
intake:

(A) 20%
(B) 30%
(C) 10%
(D) 40%

Q116 Carbohvdrates provide energy of

(A) BRealig
(C) 4 kealig

(B) 12keallp
{”} 16 kﬂ:llfrg

Q117 Which of the following vitamins is NOT fat
soluble?
(A} VilaminA
(C) VitsminE

(B) ViaminC
(D) ViaminK

Q118 Almonds are rich i which vitarin?
(A) VitaminC (B) VitaminA
(C) VinminE () Vitamm D

Q119 Whichorthe following vitsriins is NOT water

soluble?
{A) Retingl (B) Thiamine
{C) Riboflavin (D) Niacin

Q120 is important for
controlling the balance of luids in the body
s well as the comrect functioning of the heart
muscles,

(A) Calcium

(B) Iron

(C) Manganese

(D) Potassigm

pC
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Q114 g Femgs, @1 wave {oefm iy
Hep (Mach) g
(A) DB¥ |
(B) 1892
(C) 2.8%3
(D) 3943

Q115 feg wreny w109 (seg = ) &
Hafem amEw #) waE ® sEan
SREIREZY AT W ¥ aa & fay aw
T Hel Tl e 3 =7
e sy |
(A) 20%

(B) 3%
(C) 10%
(D) 40%

Qlie wmiEgge Wt ugr v 81
{A) Ekealip (B) 12keal’s
() 4kecalg () l6kecallg

Q117 Pyt @31 @ o Refe a5 gemdia
ol 87
(A) femaa
(C) RefmE

(B) Fefis C
M) s K

Q118 TEm &5 3 fefa A g w87
(A) faefFc (B [aziimA
(C) fRefmE () faerfimD

Q119 B 3 4 @ e g & e
A5l B
(A) e
(C). Rameiias

(B) Frafds
(D) e

Q120 ¥ § TRe TSR] & e B T
T - gay W N &
HE TS W W T @ e
wawy &
(A) Dicargm
(B) 2
(C) Frirs
(D) Ui
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(121 Pemicious anaemia is a condition in which
the body CANNOT make enough healthy
red blood cells because it does NOT have
enough
{A) vitamin B6
(B) nboflavin
(C) folate
(D) vitamin B12

0122 Normal red blood count in an adult man is
million/mm’.
Ay 2.5—45
(B) 6.5-9.5
() 4.6-62
(D) 9.6-12.2

, are loaded with
vitamins, minerals, beta-carotene, vitamin C,
folate, iron, magnesium, carotenoids,
phytochemicals, and antioxidants.
(A) Dairy products
(B) Berries
(C) Dark leafy greens
(D) Whole grains

Q123

also have
antioxidant and anti-inflammatory properties
that can help support a healthy human body.
(A) Minerls
(B) Amino acids
(C) Fats
(D) Phytonutrients

Q124

0125 Inwatertreatmentplants, whatare thesteps § Q125

1o remove dissolved solids?

(A) Oxidation and Filtration

(B) Activated carbon and Air stripping

(C) Reverse Osmosis, Distillation and
deionization by ion exchange

(D) Oxidizing Fifter, Green-sand
Mechanical Filter

PC
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Q121 e warea aF Rufy €l 8 Rred
wte e s A R i 1@ i
a8 aw i s sEd guia A |

=& B
(A) B+ B
B) wgEwAEa
(C) WieT
(D) faefs B12

0122 v aues afi A oe @ Sl
H w HEn e/ mm’
Bl B
(A) 2.5-4.5
(B) 6.5-9.5
(C) 4.6-62
(D) 9.6—12.2

Q123 #§ we wam ¥ e, wf,
frer ddm, Refas 9, wiee, snaw,
hefifirm, ST, wradfEd 3R
afeaifadiers U wn 8 |
(A) S Seare
(B @8
(C) T8t &Y T & Uciaw A
(D) A S

i ufy afedlena alR
¢A-graied o B 8 S e IR
w1 W va W uegs g &)

(A) afs

(B) it Ufee
(C) @

(D) PRETgEH

el YT GaET i g 5e ara gaeE wl

ged & fye @ g far 9@ &7

(A) i air e

(B) wfpfe ads 3l v Refir

() Reet sitenfiva, smeas aliv @A
TaRTE

(D) sifedew fireey, w8 Yo, gifa®
fhee

Q124
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ELEMENTARY MATHEMATICS

Q126 If the measure of the interior angle of &
regular polygon is 907 greater than the
measure of its exterior angle, then how many

sides does it have?
(A) 9 (B) 10
(C) 8 D) 12

Q127 The perimeter ofan equilateral triangle is
18 cm. Find its area.

(A) 03 em?
(C) 1843 em?

(B) 3643 em?
(D) 27,3 e’

Q128 Find the volume of a right circular cylinder
of diameter 7 ¢cm and height 6 cm.
(A) 231 em’ (B) 246cm’
(C) 258 cm’ (D) 264 cm’

Q129 Find the volume of a sphere of diameter 2|
cm.
(A) 4,637 cm’
(€) 4,851 cm’

(B) 4,481 cm?
(D) 4,257em’

Q130 Find the total surface area of a right circular
cone of diameter 7 cm and slant height

O em,
(A) 113.5em® (B) 159.5cm?
(C) 171, 5em? (D) 1375 em?

Q131 The total surface area of & hemisphere is
1,848 em’, Find its diameter,
(A) 31.5em {B) 2%cm
(C) l4dem (D) 17.5em

25
Q132 If Cos=c9=7. then Tan0=7

24 7
A) 5 ® 3
7
© 35 ®) 55

P-C

I

Q126 a2 & Fafia aggo @ aiafls am
& AN THEG AN H0F A9 f 00
e &, o g feeh weng &7
(A) 9 (B) 10
(C) 8 (D) 12

Q127 v& wvag Pege & o 18 om B
UH HABA TG B

(A) 93 em® (B) 363 em?
(C) 183 em’ (D) 273 em’

Q128 7om @ 3N Gem Haig are S HHBT
YA dele 1 AT ;T B |

(A) 231 om® (B) 246 cm’
(C) 258cm’ (D) 264 ¢m’
Q129 2| cm & & TSH M &1 AT S
|
(A) 4,637 e’ (B) 4,481cm’
(C) 4,85 em’ (D) 4,257 ¢m’

Q130 7em &1H 3R 9em s Tod @
TABIY JoTPR UG B g WE Bl

L 1 1 15 s
(A) 113.5em? (B) 159.5em’
{C) 171.5em? (D) 137.5cm’

Q131 U& i D Hel WaE & HAG
1,848 con® & | SU@T TG T T |
{A) 31.5¢cm (B) 28em
(C) ld4em (D) 17.5em

25
Q132 af% C‘ase:cﬂ=7. fl Tan0="

2_4 7
(A) = (B) 24
b 24
© 35 (D) 5%

l



€133 The horizontal distance between two towers
is 100'm and the angular depression of the
top of the first tower as seen from the top of
the second tower, which 18 120 m high, is
45" Find the height of the first tower.
(A)Y 40m (B) 60m
(C) 20m (D) RO m
Q134 Select the most appropriate option 1o solve
the eguailion
S A
(1=sin.4)
(A) secA+tanA  (B) secA-tanA
(C) coseeA + cot A(D) cosecA-cotA

e 1

(1135 Select the most appropriate option to solve

following expression

Juo. uﬂsmu 03%)

|
Jo.0001
(A) 0,08 (B) 0.027
(C) 0,009 (DY 0.0003

136 Convert binary 10101100 to decimal.
(A) 184 B 172
(C) 196 (D) 168

(3137 If the LCM and HCF of two numbers are
1144 and 13 respectively and one of the
numbers is 104, then {ind the other number.
(A) 157 (B) 169

(Cy 137 () 143

Q138 What is the quotient when 2143 is divided

by 387
(A) S5 (B) 57
(C) 56 (D) 54

(1139 A vendor sold a dozen bananas at 48 and
made a 20% profit, IThe had sold them for
2601 dozen then he would have made a profit
of :
(A) 40%
(C) 50%%

(B) 60%
(oY 25%

P-C

S190%7

=

Ja

Q133 31 2l @ we @1 ffew gD 100m #)
et #he, o 120 m S B & Ren 4
S T U R 2R & IR I
FI0 45° &1 ugd olay @ Hug s
&\ |
(A) 40m
{C) 20m

(B) 60m
(D) 80m

0134 TiEw B 66 S @ o aad augE
ey w1 Taa &
cos A
(I —sin A)
(A) secA+tanA  (B) secA-tanA
(C) cosecA+ cot A(D) cosecA-colA

="

Q135 wiEwvl ) 50 e @ forg i evga
fapea &1 T e

J(0.0081x0.03%)
J0.0001

fA) 0.081

(C) 0.009

=7

®) 0.027
(D) 0.0003

Q136 a1l 10101100 F) SIPFE # a5 |
(A) 184 (B) 172
() 196 (D) 168

QH'? afe 2y senl & wgRm TrEe iR
e aaads meee (44w 13 8
aftz o7 TiEmall d 9 v wer 1048, A

T W oA |
(A) 157 (B) 169
(C) 137 (D) 143

Q138 2143 ®1 389 Fenforg % 9 HrTea
war g 87
(A) 35
(C) 56

B) 57
D) 34

Q139 v fshor 9 @ a0 Sl 48 149 3R
20% @ @arar| afe e 9 60

o ® g 9 ST ¥R o7 98 &1

GIERG UGN

(A) 40% B) 60%

(C) 50% (D) 25%
SERIES-CF



Q140 The mean of all odd numbers from 111 1o

245 s :
(A) 180 (B) 178
(C) 182 (D) 184

Q141 A shopkeeperoffers a discount of 28% on
the marked price of un item and thus ends
up selling atcost price. By what percentage
is the marked price greater than the cost
price?

(A) 1825%
(C) 38.88%

(B) 22%
(D) 28%

Q142 Profitef?35,62,000 has 1o be divided among
three partners X, Y and Z. Share of X is
2 3
‘ 'i of Y and shareof Y is g' of Z. Hovw much
| does Z pet as his share of profit?
| (A) 248,000 (B) 72,62,000
| (€) 22.81,000 (D) 22.24,000
:

Q143 Aand B working together complete ajobin
12 days. For this job A gets paid T 4,980
| and B gets paid T 3,320. IF A had worked
alone on this job he would have completed
it in how many days?
(A) 30
(C) 24

®) 20
(D) 36

| (144 A rider goes on a trip on his motor-cycle
and rides for 536 km. To cover this distance,

l if he rides for 5 hours at 47 km/h, and x
hours at 43 km/h, find x.

(B) 7

(D 4

(A) 6
(C) 5

pC

L Q140 1118 245 5% &Y wf) Ay el @

LESFZETSY

- aEd Bl
(A) 180 (B) 178
(C) 182 (D) 184

Q141 Tw gwrer B avg @ sifea e w
28% W BE WS @y & 3 gy wae
AP R O A @ RS e B
G S I G A e o G
wfaw 87
(A} 18.25%
(C) 38.88%

(B) 22%
{Dy 28%

Q142 5,62,000 31 @nt @9 elERT X, Y e
5

Z 7 A AT B X & N Y 5 '{'

- E]
R & afte Y @1 8w Z a9 z fEem

Bl 29 om & 3T ey & ey f
fawrer Feor &7

(A) T2.48.0000 (B) ¥2.62.000

(C) T2,81,000 (D) 32.24,000

Q143 A 3 By W 12 1 ud wrH O
TY B | 50 BT D [ AT TL980 @0
apren fdn o & 4R B T3 3209
WP [T @R B 1 afE A T &
e v whan oy Sa e 0 4 g9
gl v fern grar?
(A) 30
(Cy 24

(B) 20
(13) 36

Q144 v waW WG Wew-wEisd o aEn
venl & X S36 km & <8 @9 W e
af? g g8 = m T @ forg a8
47 km/h 71 1§ 562 3T 43 kmih B
nfl A oy B wET SRl 8, W x F;6

FAFHY |
(A) 6 (B) 7
(©) 5 ) 4
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Q145 Ifthe amount received at the end of the 3rd
and the 4th year at compound inférest on a
certain principal is 219,800 and T21,384
respectively, then what is the mte of interest?
(A) 8% (B) 5%

() 0% (D) 9%

Q146 5 years before, his father's age was 2 years
more than 5 times Vinod’s age then. After
10 years, his father's age will be 14 years
less than 3 times Vinod's age then. Find the

father's present age.
(A) 42vears (B) 52 years
(C) 37 years (D) 47 years

QIAT If 2+ 5" =189 and a+ b =20, then find

g+ b
(A) 9 (B) -12
(C) -9 (o 12
- 2x—1
Q148 Salve the equation =T o find value

of x upto 2 decimal places.
(A) 2.67T0r-024 (B) 1.520r-0.72
(C) 424 or 064 (D) 3.64 or-0.14

(149 Which ofthe following is correct algebraic
identity?
(A) (ab+beotcafatb+chrabc{ath)(b+cketa)
(B) (sb+bc+cafatb+citiabe{ath)(b+cheta)
(C) (ab+botea)ath+ehabe{a+h)(h+ekctn)
(D) (sb+be+ea)a+h+cytlabos(a+h)(b+exeal

Q150 The perimeter and the breadth of a rectangle
are 49 cm and 7 cm respectively, Find its

length.
(A) 14.5¢m (B) 16.5¢em
(C) [7.5cm DYy 155em

| 2

)
(o ]
o
X

A
=4
-

38

Q145 aft @ Fiftaa e w THgE @
0w e afre e ad & aia o o ufd
wel T19,800 3w 21,384 B @ =

&y aa) &7
{A) 8% (B) 5%
(C) 10% (D) 9%

Q146 5 af wER, W fien @ wg fae &
A A B S A 20 wurer 4 10
g 715, gad fm A ey e & 5
@ 3y & forA | 1 ad @n sl | R
@ aEE A T B

(A) 42 (B) 5274
(€) 3778 (D) 4774
Q47 8% 24 =189 MY g4p=208 A
a+ b SR &Y
(A) 9 B) -12
(C) -9 D) 12

Q148 2 SIMET Wl T % &1 HIF TR ERA B

- 2";'=?  ea w

(A) 2.67T1-024 (B) 1.52 7 -0.72
(C) 4.24 71064 (D) 3.64 ar-0.14

Q149 Fr=idfum 1 9 F W w8 daFhdg
waaA@r 87
(A) (ab+be+calfat b+ cytabe(a thi(be)e+a)
(B) {sb+be+ca)a+b+cyabesfat b)(b+c)e+e)
(C) (ab+he+caat b+chrabefa+b)(b+chc+a)
(D) (sh+be+calfatb+opdabe={atbiib+cXo+a)

Q150 Um e @ uify afw e @
49 cm 3 7om B | SHE FaTE B B
(A) 14.5cm (B) 16.5cm
(C) 17.5em (D) 155¢em
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Q152

Q153

Q154

Q155

PC

HINDI

Py=iferfian wes o, | fawedl o @ oW
farpea &1 987 F¢ ot wdam B Ay @
ue fawe 81

foreret w91 Femar o, 9 3 @ |
(A) Feaaaras

(B} AT

(C) e e

(D) Fomaras

g9 A AW UE AEATaE G Aol
el

(A) T8I

(B) Rgam

(C) wFI

O) g

Py=ifoiflrg uem A an fBead 4 9 T
frareq W1 W= Y il T @ R are
Wil fweg 8

&t A @ w Reemarn)

(A) TP

(B) Ffwvs B

(C) WRomi®

(D) Fad

e were @ Rdmmy 7 g witt, awgal
gty @ ur <t averar fdwen B ga
B T B OGEY W 4G AGHL G
S 87

(A) e

(B) wNTLE WY

(C) I

(D) wrd i

fe @i 1 TEawy W dda 87
{A) T
B) =
(C) =
(D) #

TGy
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Q156

Q157

Q158

Q139

0160

Al @ & g e fasRv € o 2,
afw awn wigcy & = 8 9w 98
o w87

(A) @O

(B) S9IM™I

(C) faf

(D) ea w9

fam effrat & o =1 e A 3@ aRh
2 A aiore § 99 aur e &7

(A) 3MTd

(B) &S

(C) side™

(D) araviems

wae il & smR O @oE) B o
gnt # dfer war &7

(A) UH

(B) &

(C) aF

(DY aR

firan ) 1 oW B @ iar A i
# arrFaR g @ s e @ e
W SR A1y @ YAE B FaGE B €
UF) IR0 Ve Y T T e &7
(A) &
(B) =
(C) drge
(D) awrd

9 | @ e aRY § W




16l

Q162

01463

Lrlod

o

Hra et e o g @ e
ureda-ua femdn?

(Ay wemee Srfaa)

(B) SuE® i

(C) anamt ARER

(D) dwE SN

s faed] o aedl @ e & Frevdiaw
#) o) ad gv R ua foreny?

(A] IR

(B) we R

(€Y e @

(D) ‘3=2ey BTG

wrte sy ae e PBem 1
A & [EA 8v

(A) Ty

(B) Wag fawrm—uwm

(C) srHa

() ) e uh §

B WAt @l A A e aen Eedn?
(A} Taeellg

(B) gy

(C) 9o

(D fEdd

I'assage

A [ ma gai & a| 5 9E Q165
{1 Q169 ) fav 713 & | g9 g o
eTE® We Al = fwedl 1 9w
W AR ST IR gy

wed W faigd wag @@ e gl
8| et Rl 9 was o) e U
g [ ug fioww Few, Resa 9d@®
B B | ) W] weell uEHE
FF aw 39 T & ool awar B
T S@d grd @ S an A @yl
A w8 & gl @ e By i
offel v ael g At sl
g1 @ affe s @ v ol O 8
Al 1 fear &1 w99
Wl W e dw R Rean @ig

44

| A5T1ey

Q165

Q166

Q167

Q168

Qley

g el -TE & | e e 3
FE T Ao, w8 S Ry 7w A
Ay & feam goe 8 | g8 W O iR
=g # we o e ik e W Em R |
RS W o7 Rig & w96 g & W
Fden B W o W e # | s
e A v anre o o anedl Suga
aawe fed o o wEw | I oA o
Han, a8 @l o) e TS 8w |
W % HIEw A R ae @ A
e U anary W £ o 99 ey
E 8, T e T e wd, g
T W AR W WS gl

HIEW TR a1 S ol o’
(A) F9T

(B) fdax

(©) 33

(L) ST

wTEe wp fn e 87
(A)

@) s

() Rie

(D) AR

v i yeare fa famn Sivare @fEa
W fwwr warn fam &7

(A) g @

(B) W

(C) W )
(D) 3H HJEA

oied® 9 W Sila @) AET a8
(A) Tadwdiie sitga @t

(B) el @

(C) Ygraeamg

(D) fewia &)

Ea L 1 e 1153 e R e Ol £ L
qaiEETe W A 857

(A) HEERA

(B) anavmrd)

(C) =98R W @ & ard

(D) @8R

SERIES-CF



QI71

| Q172

Q173

Q174

Q175

P-C

QI70 1 ¥ FF @ I &0 & gfe

afy =@ &7

(A) Tar=F
B) i eafA
(C) == @
(D) T=irea

femmfeT oo o — wuw &7
(A) fammsy

(By T ant

(C) WrETTane [gda)

(D) wadEeer aqt

s 3T | gEAr gwia fH A
w87

(A) @Ea @ 7

(B) TS e

(C) Tl

(D) ¥R & A

HEAST AR I9a amts Y &
AT T w17

(A) RS

(B) fagm far

(C) =Rt

(D) “ramim

& wite = amfs @ e
HE W AT e &7

(A) 18508 @

(B) 17008 %

(€) 17503 %

(D) 19008 &

Frafafe v ¥, o e A 9 9w
wE ey @ =9u o o T8 99
wad e faee £

(A) & e g o 8 F|

(B) =Y wewr Fuw 37 W@ |

(C) =) 7Sd Guv 3T V8 B

(D) =7 TSHT FET 307 7ET 8|

Q176

Q177

Q178

Q179

Q180

Fr=ifofas yw= A, oe Recdl 79, 9
el fwey & W Y W) uE T
o1 A e fAde 21
(A) B9 9 & HET o1
(B) B9 Aol FEl @1
(C) B9 sy wer e
(D) &9 & & w8 |

Fr=iferfire v &, o Rea 42, 99
e fwen & wm Y W g T
&1 wad aresy Ree )

(A) a8l feoeit ameg & amoo )

(B) e sy sy a8 |

(C) @ feooll srmwm e |

(D) a5 ol smavas e

Fr=fafan v 8 an el # 9, 99
e e =1 9um o o1 g8 T
&1 wad o) e &)

(A) U wfdesl ) gwas g3 S
(B) & ®faa & & Y g9 T
(C) »faamit 3 @ gwes g9 i
(D) SR B g gREs 49 2 31

Frefefe o ¥, an Rewd 49, ou
wél Ras @1 927 oY O g T
w1 WAH e e )

(A) T2 Fact 4 DA A SN
(B) 7= daw 4 Afet &)

(C) 75t & WifeHl daa A afong )
D) g5t dad 4 Afedt Hfw)

fFrafaftaa uw 4, an et i 4 iy
T aEa @ wE e aren Reer
qEag |

&y el B ael & v o)

(A) el qEETa

(B) STH=] Herahred

() ot s

(D) Wi yasE




Q181

Qi82

Q183

Q184

PL

Prafafteg e A, 9w el 4 9, o9
fArpoq 1 90F ®¥ ) U B NE & wh
fawea 11

2y s yerg wvar o), gufey @
%y and |

(A) anaTHEAIGS TE

B) Fengaas o

(C) wnfirgaias us

(D) yriargaas U

Ferfefan we # g fAwedt 4 9, 99
fisoq @1 a7 oY W @ik = @
A”R T WAAA & NE T
wé s 8

o8 e gEa e e |

(A) AT HETM

(B) wem 4oy

(C) o qouaTaS

(D) FwW gvY

fe=ferfan v 3, ar R 4 8, 59
fawey & =709 & @l g @ w6 AT
o i &)

#fz |y AmE e T ot W
BT T |

(A) FaEri

(B) wahame]

(C)

(D) FPreagnt

fr=fafas e & g Aot 4 9 99
fRwey &1 934 X Wi Wl 9 e W
RAwe £

#t % e of & o waw e #)

42

Q185

Q186

5 Q187
E

Q188

Q189

el & #E g 9 B WE T B
forg arem & afa # fa fes @1 9w
Fel 87

(A) @M

(B) wmeE

(C) Y&

D) faaw

Frferftas we 4, 9 Resl § 4§, o
forarear @1 W Y O AT Y HErR &6
wal e e RAee 2|

o @ A W arE |

(A) W THHSY FH T

(B) wen—wmEn &fan

(C) TN

(D) HE¥ B

fr=fafas wea #, ar Aot # 4, a9
e w1 vy ¢ o Ry 1Y gEre &
ey aef aren faweg 2

W8S TMNEY el |

(A) 5 O & e dwr 88w
(B) 8

(C) wHéRT B

(D) WG-¥g1 HR FEAl

Fraferfen wea A, a R & 9, 99
farerea @1 wa &Y ot Ry 77 e @
wét wred wem Ree &

feramm da |

(A) W8 I

(B) &9 2

(C) GBS &l

(D) AT &1

e wet ¥, o el 9 91, 99

et sy o1 au7 & o &§

slrifal @ wdl snd aren Bwe §)

WA WTE W " A6 |

(A) o R R ==fam sferh 8
ol 8

(B) T Bl Wl |@H 7 I

(C) #BW o

(D) wea &
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Q190 Fr=felas wes 3 an et 49 o

Q191

Q192

PC

el e o1 w3 o o Ry g T
& 3ol IER ¥ 9 Ree &)
gt = Wty & wa ara @
fam worifey &9

(A) Studentsshould be eligible beforeand
then do politics.
Students should do politics before and
then be efigible,

Students should NOT be eligible
before and then do politics.

Students should be eligible before and
then don't do politics.

Fre=ifafas ve ¥, o Resi 4 9, o
el e & 'y B o 3y Y A
@ sl argare @ w8 Raw 2
R IR o WRgoT AT iR g
o & et 4 2

(A) The some obligation of independent
India is in the hands of the students
today.

The entire obligation of dependent
India is in the hands of the students
today.

The entire obligation of independent
India is in the hands of the students
today.

The entire obligation of independent
India is on the hands of the politicians
today.

Prafafa v A ar Rl 4 @ oW

wé Ry o 9us w o) g v am

@ sfioh a1 e e 2

et @ o § we wae o faam

B wmiaE € 8

(A) Itisartificial to develop sports spirit
by organising sports,

(B) Itis natural to develop sports spirit by
NOT organising sports.

(C) Itis natural to discard sports spirit by
OFganising sports.

(D) Itisnatural to develop sports spirit by
organising sports.

(B)
(©
(D)

®B)

(€)

(D)

43

Q193

Q194

R L

Q195

Frefofe wea ¥, ar Reel 4§ @, 59

W e &1 wa= ¢ o fav v gy

& 3l argare @1 98 Rew B

afe w=d e & www @ B @ ol

rd foar sy o ks sEwm fe

i

(A) Iffalse work is done for the benefit
of the society, then support is given,

(B) Iftrue work is done for the benefit of
the society, then support is given.

(C) Iftrue work is done for the loss of
the society, then support is given.

(D) Iftrue work is done for the benefit of
the ourselves, then support is given.

Fferfn wer % o e ¥ 9 9w

we! fAwe w1 wm &Y W Ry Ty any

ool arpaTe o1 WA fww B

I T @ ¥ vt e @nnfle

gl

(A) Competition in industry and business
is natural.

(B) Competition in society and business
is natural,

(C) Competition in industry and business
is popular.

(D) Competition in industry or business
is natural,

et wem ¥, ax Resdl # 4, 99
o fare @ 9ua o o Tl @
Ry vw w2 o1 R 81

T eEr W §)

(A) &

(B) J=q

(C) HFTF

(D) waw




0196 F=fafee v A, oR Reai 49, 99
wd e @ 999 B 9 qrail @
fame v e @ fawey B
W T Wi ®) G B
{A) arettfrs
(B) vy
(C) wreEmey
(D) wifas

Q197 FrafaRen v ¥, oR Rwe 4 9, 9w
Y fAEes &1 e & o Yailee e
@ foy ofan fAwe 21
fyar 3 AF & ) % el 0 wEr
wi A B R
(A) BT
(B) &
© il

(D) &9

Q198 - & e w= o fAam &7
(A) Wit
(@) i
(C) RGeS
(D) Yl :

Q199 frefafae o & e Roaf H A v 3
faweq @1 g9 o on fRg 7 e w5
wf) vl seg aren fa@ea 21
e
(A) =™
B) WA
(C) =rd
(D) A

0200 Pyl v # o Ree 4 @ 99
faeg & 949 H¢ @ fau 17 = &
Ted T4 21

|
(A) Fifirema

(B) F=
© 3@
(D) weoe
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Read the following Instructions carefully :

Prsfafan Bidel = aam 4 0@ -

1. Dot of the four altermatives for cach question, ooly
one circle (or the eorrect answer is 10 be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is nol Hable
I be changed

1. The candidates should ensure that the Answer Sheet
is not folded. Do noi make any stray marks on the
Answer Sheet, Do not wiite your Roll Mo, Test
Booklet, Test Center Code and Examimation Date
anywhere clse except in the specified space in the
Answer Sheet,

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except Tor discrepaney in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendanee
Sheel.

5 Each candidate must show on demand bis/ her Admil
Card to the Invigilator

6. No candidare, withow special permission of the
Superintendent or Invigitator, should leave his/ her
geal.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet io the
Invigilator on duty. Cases Whire 3 candidate has not
signed on the Attendance Sheet will be deemed not to
hove handed over the Answer Sheet and dealt withas
an unfair means case,

B Use of Pencll/Electronic/Manual Caleulator is
prohibited.

9. The candidates are governed by all Rules and
Reguiations of the Commission with regard to their
conduct in the Exuminathon Hall. All cazses of unfair
means will be dealt with as per Rules und
Regulations of the Commisston.

10. A Rer Examination is over, cindidate has to return his
Answer Sheet ta invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
cundidate is allowed 1o leave the examination hall,
Candidate is paly allowed 10 take Condidate’s copy of
mnswer sheet.

11. Candidates are not atlowed o 1ake Test Booklet with
them. They have to submit the Test Booklet 1o the
Invigilator after the cxam,

|, W ur @ o Re o o Rewi 4 9
wi I @ By Al o 3w 9eY gE g
e U AT BI B T Ve W 91 UiEe
O | W | O qI Y Jifcha [y WH @
TG FH Gge A8 W " g
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